
LI: To subtract two and three digits using 
the number line method 
 

 

Answer the questions using the layout provided below. 

1) 237 - 102 =  
 
 

       

  2 3 7   

-  1 0 2   

       
 
 

2) 365 - 135 =  
 
 

       

  3 6 5   

-  1 3 5   

       
 

3) 357 - 235 =  
 
 

       

  3 5 7   

-  2 3 5   

       
 
 

4) 665 - 344 =  
 
 

       

  6 6 5   

-  3 4 4   

       
 

5) 864 - 132 =  
 
 

       

       

-       

       
 
 

6) 375 - 223 =  
 
 

       

       

-       

       
 
 

7) 646 - 323 =  
 
 

       

       

-       

       
 
 

8) 536 - 214 =  
 
 

       

       

-       

       
 
 

 Column method 3 – three digits no borrowing 

 



LI: To subtract two and three digits using 
the number line method 
 

 

Answer the questions using the layout provided below. 

1) 237 - 119 =  
 
 

       

  2 3 7   

-  1 1 9   

       
 
 

2) 362 - 239 =  
 
 

       

  3 6 2   

-  2 3 9   

       
 

3) 352 - 228 =  
 
 

       

  3 5 2   

-  2 2 8   

       
 
 

4) 625 - 316 =  
 
 

       

  6 2 5   

-  3 1 6   

       
 

5) 427 - 164 =  
 
 

       

       

-       

       
 
 

6) 475 - 283 =  
 
 

       

       

-       

       
 
 

7) 647 - 366 =  
 
 

       

       

-       

       
 
 

8) 536 - 281 =  
 
 

       

       

-       

       
 
 

 Column method 4 – three digits borrowing 

 



LI: To subtract two and three digits using 
the number line method 
 

 

Answer the questions using the layout provided below. 

1) 237 - 59 =  
 
 

       

  2 3 7   

-   5 9   

       
 
 

2) 362 - 39 =  
 
 

       

  3 6 2   

-   3 9   

       
 

3) 352 - 28 =  
 
 

       

  3 5 2   

-   2 8   

       
 
 

4) 625 - 66 =  
 
 

       

  6 2 5   

-   6 6   

       
 

5) 424 - 19 =  
 
 

       

       

-       

       
 
 

6) 375 - 26 =  
 
 

       

       

-       

       
 
 

7) 647 - 36 =  
 
 

       

       

-       

       
 
 

8) 536 - 81 =  
 
 

       

       

-       

       
 
 

 Column method 5 – odd borrowing 

 



LI: To subtract two and three digits using 
the number line method 
 

 

Answer the questions using the layout provided below. 

1) 2373 - 1428 =  
 
 

       

  2 3 7 3  

-  1 4 2 8  

       
 
 

2) 3626 - 1355 =  
 
 

       

  3 6 2 6  

-  1 3 5 5  

       
 

3) 3527 - 2354 =  
 
 

       

  3 5 2 7  

-  2 3 5 4  

       
 
 

4) 6259 - 3643 =  
 
 

       

  6 2 5 9  

-  3 6 4 3  

       
 

5) 8024 - 1605 =  
 
 

       

       

-       

       
 
 

6) 3702 - 2026 =  
 
 

       

       

-       

       
 
 

7) 6440 - 3246 =  
 
 

       

       

-       

       
 
 

8) 5366 - 2081 =  
 
 

       

       

-       

       
 
 

 Column method 6 – four digits borrowing 


